

$$\log m^e, \text{ con } e \geq 1$$

Supponiamo che $\log m^e = e \log m$ e $\log m \leq em$ per $e \geq 0$, quindi
 $\log m^e = e \log m \leq eem$ ovvero $\log m^e = O(m)$

ma

\forall costanti $e \geq 0, b \geq 0, k \geq 0$ vale $\log^e m^b = O(m^k)$

$$\log^5 m^6 = O(m^{1/3}) \quad e=5, b=6, k=1/3$$

per provare per ogni $e, b, k \geq 0$

$$\exists e, m_0 : (\log m^b)^e \leq e m^k \quad \forall m \geq m_0 \quad \log^e m^b = O(m^k)$$

Proviamo per $e=1$ ricordando che $\log x^b = b \log x$, e che $\log x \leq dx$ per tutti

$$(\log m^b) = (b \log m) = \left(b \frac{1}{k} \cdot k \log m\right) = \left(b \frac{1}{k} \cdot \log m^k\right) \leq b \frac{1}{k} d m^k$$

prendo per $e=1$ (ma $\forall k$), con $e = \lfloor bd \rfloor / k$.

In genere, usando $e=1, b$ arbitrario, k lo stesso

$$(\log m^b)^e \leq (m^{(k/e)})^e = e^e m^k$$

Vale che $\forall k \geq 0, e \geq 1 \quad m^k = O(e^m)$

Devi provare che $\exists e, m_0 : m^k \leq e e^m, \forall m \geq m_0$

Osserva che

$$m^k \leq m^{m/\log e^m}, \quad \forall m : k \leq (m/\log e^m)$$

Quindi

$$m^k \leq m^{m/\log e^m} = (e \log e^m)^{m/\log e^m} = e^{m \log e^m / \log e^m} = e^m$$

~~QED~~